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Mathematics 3208

More Limits
Limits and Absloute Value.
>0 - >
Recall: [«]= o or |x—a|= e x=a
—-x, x<0 —(x—a), x<a

Evaluate each limit
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this will yield one of the following situations.
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No Limit Limit is oo Limit is -0

Consider the following. Relr&mber take# limit from both left and right. _j L
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as x approaches 2 from the left, the numerator approaches 6, and the
x+d

denominator approaches 0 through negative values: lim -0
sy

as x approaches 2 from the right, the numerator approaches 6, and

the denominator approaches 0 through positive values: lim <= o0
x—=2" "
fq X4 .
e the £1§} “—2 does not exist
* the function has a vertical asymprote at x = 2
You try:
1 x+l 2 _x
3x-3 571 (g 41)
3
3 = 4.
=3 x—5
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